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QL. The correct IUPAC name for the following compound is:

H  CHy
E1h‘||. '|I1H

(A) (1R, 3R)-1-chloro-3-methylcyclohexane

(B) (1R, 35)-1-chloro-3-methylcyclohexane /— TN
(C) (15, 35)-1-chloro-3-methylcyclohexane (D) (18, 3R)-1-chloro-3-methylcyclohexane \ 3 U
Q2. Chose the appropriate product formed in the given reaction sequence?
OCH3
o P
o @
«Q » QL &)
UCHa \‘-._,_.-r'//
Br
© id) MNone of the given
OCH;

Q3. Selective substrate reagent reaction fallows?
O

FmGDDEt NaOH
?

(a) 1.4 addition

(b) ArSN2 @
(c) Acid formation

{d) Cyclization Reaction

Q4. Cyclic ketone on reaction with per acid an oxygen insertion take place withlactone a final product, the
reaction is?

(a) Aldol condensation =
(b) Baeyer-Villiger Oxidation

/ x
(¢} Dieckmann Condensation QJ /

{(d) Fukuyama Coupling

Q5. The reaction conditions to product formation given below is ?

Sig. of the candidate:
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St 0 SO
M N
N~
@ o
POCI;
H,0 CHO

(a) Vilsmeier reaction

(b) Gattermann formylation N
(c) Reimer Tiemann reaction ( )
(d) Mannich reaction HEJ,/

Q6. Identify the product formed in the given reaction?
KOH

\\. —_— "?
N

CHCly

cl N
(@ @\/T i m
7 N" el
CHO
(c) mmo () @\/g
N N
H H

Q7. The configuration at the stereacentre in the compound given below is 7

Tom

(b) 1S

(c) 2R
{d) 28

Q&. The two compounds given below are?

(&)
o Me I'%!a
sols
ﬁ H

(a).Enantiomers

(b) Identical _ \
{c) Diastereomers é

{d) Regioisomers

Sig. of the candidate:
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Q9. The following molecule has

H, : COOH
HOOC

H (_

A
(a) Plane of symmetry EJ
{b) R configuration

N2/
(c) S configuration

(d) Center of symmetry

Q10. The IR stretching frequency of C=N can be observed at
(a) 2250

(b) 2350
(e} 2150
(d) 2700

Q11. Chose the accurate C=C double bond length?
(&) 134 pm
(b) 142 pm
(c) 120 pm .
(d) 138 pm

Q12. Chose the suitable catalyst used to carry aromatic electrophilic substitution reactions ?
(a) PEGs (b) lonic liquids
(c) FeBr3 (d) Pd(OAc), {2

Q13. Correctly matched structure and carbonyl stretching frequency set is
Column A Column B

P. é" X, 1750 e

Q. é" Y.| 1770em’
Lo

R. E/{C' Z.| 1800 cm®*

(2) P-Y, Q-Z, R-X

(b) P-Y, Q-X, R-Z D
(c) P-Z, Q-Y, R-X -

(d) P-X, Q-Z, R-Y

Q14. The number of chemical shift non-equivalent protons expected in the "H NMR spectrum of a-
(a) 7

(b) 8
(c) 9

(d) 10 @)

Sig. of the candidate:
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QI15. The structures of major products X and Y in the following transformation are ?

o Aol Ay
el S
e, &

sqlles s,

(Q17. The major product in the following reaction is ?
OH
1. KHfTHF, A @
— = e
2.H,0%

Sig. of the candidate:
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Q19. Which of the following is the known name for the reaction given below?

Ry Pd cal. =
Dl G O,
”] Rz R} Rz
(where, X=CI, Br, I, OTf; R2=Alkyl, aryl, H; R3=alkyl, aryl)
(a) Ullmann reaction
(b) Gabriel phthalimide synthesis
(c) Buchwald-Hartwig Reaction
(d) Chan-Lam coupling

Sig. of the condidate:
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Q20. In which of the following reactions lead tetraacetate is used to cleave a carbon-carbon bond in a glycol?
a) Swern oxidation b) Criegee oxidation

¢) Jones oxidation d) Baeyer-Villiger Oxidation ;)

Q21. Chose the molecule with smallest carbon hetero carbon bond angle ?

(a) @
(b) E"}

H
(© @

{d) All C-Hetero-C, angles are same

Q22. Which among the fallowing is the strongest base?

@ [

) < NH,

A
x ®

m[ﬁS

Q23. Chose an appropriate product of the given reaction seq uence?

Ry

i H3H3 1] H+
o S
il P(Ph}s
Rz
Ry
{a) pNH
Rz
Ry OL
®) J'_::n -
Ra
Ry
© J:MH
Rz
R
(d) INH
Rz

Sig. of the candidate: ____——
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Q24 The reaction of Naphthalene with Oleum, gives the major product A, the Ais 7,

S0O:H

S04H
SO.H
o (o)
HO3

Q25. 1-methyl-1H-pyrrole-2-carbonitrile on irradiation (hv) produce 7

hwv
)-on
M

X

@ B—ocn () @
'mlIL "1

CN e.

b
mf’% @[y
N N

\

s

Q26 Furan on reaction with diazomethane in presence of hv gives ?

(a) Bicyclic compounds

(b) Tricyclic compound a
(c) Saturated monocyclic compound

(d) None of the above

Q27. From the given three membered cyclic molecules, chose the most unstable one?
@ [>

® [o

(€  [>nw

@ [s

Q28 Which among the fallowing class of compounds behave as umpolongs?
(a) NHCs x’\
(b) Carbens
(c) Free radicals A=
(d) Triphenyl cations

Sig. of the candidate:




Q29. In the below given cyclic system the ring C& D have ?

HO

a) Cis fusiun1 b) Trans Fusion
¢) Planer fusion d) Can’t be predicted

Q30. The caffeine can

be detected by

a) Dragendorff's reagent b) Ceric ammonium nitrate (CAN)

¢) Ninhydrin d) All the above given
Q31. Identify the suitable product formed in darzensreaction 7
(a) Tertiary alcohol (b) Epoxy ester
(c) Alcoholic ester (d) Amides
Q32.In Witting reaction the cyelic intermediated formed is
(a) Cyclic phospene (b) Oxaphosphetane
() Oxyphosphene (d) Phosphetane
Q33. MnO, is a mild oxidizing agent used to oxidize?
(a) Secondary allylic alcohols (b) Benzylic alcohols
(c)botha & b

(d) none of the above

Q34. Which among the fallowing is an alkaloid?
{(a) Nicotinic acid (b) Chrysophanol
(c) Emodin (d) Furan -2-carbaldehyde

Q35 The correct chair form of th

e given substituted cyclohexane will be 2
CHs

CHa
@ X
(b) A<4.‘f?—1‘.‘}7\f_‘.H3
(c) /6:7\(;}_13
HsC
(d) 3 \4_./:—::-:7>T

E|P'ﬂgt!llnnall1,i'ric;

al Ehemist]

PE)EOE ©

°/

o
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Q36. Find the suitable product from the given reaction?

° OH

(@) l: ;
8]
(b)
° Cl
{c)
(d) E(\gz

)37. Simmons—Smith reaction is an organic cheletropic reaction used for the synthesis of ?

(a) Alcohols (b) Polycyclic ring systems
(c) Cyclopropane ring systems (d) Aromatic ring systems C-

i

(Q38. Which is the mild reducing agent and reduces only carbonyl group in presence of nitro, carboxyl,
double bond and ester groups?

a) LiAIH, b) Na-NH, C..
c) NaBH; d) Hy-Ni
Q39. Which is the correct combination of reagent which can earry out following conversion?

0 CHs
O —Q

&}

(a) (i) CH; — MgBr then H'" (i) HS0, / A (iii) NHy - NH, / KOH
(b) (i) (CHs); CuLi then H' (ii) NaBH, E(OH (iii) H,80, / A /;\
(¢) (i) CHs — Li, then H (ii) PCC / A &

(d) (i) NaBH, - CeCl; then H' (i) MnO;, (iii) CH, - Li
Q40. What is used to carry out the following conversion?

s L]
g\/ R OjlmiH

a) hydroboration oxidation followed by Jones oxidation ot
b) Wacker oxidation followed by haloform reaction K é}\

¢) oxymercuration-determination followed by Jones oxidation
d) ozonolysis followed by haloform reaction 4

.l):

e

Sig. of the candidate:
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Q41 The product formed in the given reaction pattern will be

OH [brmlm]OH

L

\

()45. Reaction between1-fluoro-2-nitrobenze and Morpholine fallows
a) Addition mechanism b) Elimination mechanism
¢) ArSN2 mechanism d) ArSN1 mechanism

a) Su'r:nstituted Benzoxazine b) Substituted Benzofuran (é/
¢) Oxirane d) Substituted Oxirane B,
Q42. The applied reaction conditions to final product, presents which name reaction?
OH
0O
CHO
" )LH . Peaic  DBU R
a) Ullmans reaction b) Baylis-Hilmans Reaction /_D
¢) Deckin Reaction d) Sharpless Asymmetric Synthesis -\H/J
Q43 The Versatile alkylating agent is?
a) Vitamin B12 b) Vitamin A ,
¢) Vitamin D d) None of the Above a )
Q44. Formyl cation intermediate is formed in the following name reaction
a) Witting reaction b) Aldol Condensation Reaction CL 1
¢) Mannich Reaction d) Gatterman-Koch Reaction /

Q46 On heating benzene diazonium in an appropriate amount of water with an expected product phenol fallows?
a) SN1 mechanism b) SN2 mechanism
¢) ArSN2 mechanism d) ArSN1 mechanism

®)

(Q47The reaction between diazonium salt and phenol in presence of NaOH is a7

a) C-N coupling b) C-C coupling ,—\\

¢) Substitution d) Elimination ' P
(48 Reaction of cyclohexanone with dimethylamine in presence of H' form? =

a) Enamine product b) Iminum ion

c) Amine product d) N,N dimethyl amino benzene

(49. Chose the true statement regarding Carbenes ?
(a) Singlet Carbene is more stable than Triplet Carbene
(b) Triplet Carbene is more stable than singlet carbine
(c) Both are equally stable
(d) They are neuclophillicin nature

Sig. of the candidate: _______— ———



11|Page{Analytical Chemist)
Qgg_lTh* Major product in the given reaction will be?

NHNHE
=

OH OH

(a) (b)
NH;

6.

Q51 Which among the given molecules have zero dipole moment
{a) 1,4 -dichlorobenzene

(b) 1,4- dihydroxybenzene i,
(c) 1,3 diflorobenzene
(d) 1,2,4 trichlorobenezene
Q52 The most stable conformation of ethylene glycol is ?
OH H
T I < .
H™ GH H HO™ "BH
OH OH
HeooH
By @ M
© Ho L H NG~ CH
Q53 The reaction between 2-methoxy-1,3,5-trinitrobenzene and sodium ethanolate gives?
OCH;
OzN NO:  NaOCHs
NO
nheimer Complex b) Zcis anp!ex
2:;: gili}s_fm complex d) Arinium Ion Complex

Sig. of the candidate:
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QS;CSM the suitable product from the below given reaction?
e
i KOH e
i 1 (
&)
iii KCO4 —

OMe OMe
(a) qugcm (b) nz(I?1
0 o
| OH
OMa OMe
0 oH
|

Q55 Chose the correct aromatic order of the given heterocyclic compounds?

]’::s E}? @n

| I I
(a) I>TI>IH a )
(b) II>I1

(c) M=1=11
(d) NM>11>1

£

Q36 In the established protocol given as under what will be the final product?

(i) NaNO,, 5°C

HOOC
) ?
HaN (ii) OH

(a) Benzyne

(b) Benzoic acid o- |
(¢) Ortho hydroxyl benzoic acid E
(d) Para nitro benzoic acid

Sig. of the candidate: ____————
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Q57 Choose an appropriate rearrangement and the product in the given reaction sequence?

NO,
(i) KCN 0.,
f_h- A —
(it) H,0
Br
COOH
COOH
(8) Von Richter Rearrangment & Q (b) Somlet Hauser Rearragment & ©(
Br
Br COCH
i (d) &
() Fries Rearran gment Smiles Rearrangment
CN
Br

(58 The most reactive site in pyridine for aromatic electrophilic substitution reaction is?
(a) C3

(®) C2 @

(c) C4
(d) C3=C4

Q59 Which among the fallowing can behave as homoaromatic?

n
W

Q60The cAMP is considered main energy source in our body, chose the correct statement?

(a) The above given statement about cAMP is true
(b) The above given statement about cAMP is false

(c) Botha&b Q\

(d) None

Sig. of the candidatet —



